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i 4x4=16
1. Translate the following passages :

O SRR (R0 S 9

(@) %WWWIWW%WM:W?W:

(@)

(c)

B13-SK

W W= ORI %ﬁﬁqﬂmﬁqmﬁrﬁmﬂﬁmmﬁm—mm
T golfad e

Or/ 9y

T AT BUpeeTala A AU T STeifEd: | o @I st sgEEr Wi
S = TR WA T | A e g T Wy =Y Tl |

e fe Hgemo I e iy |
AEETHH] 7 FE AR |
Or/ g3t

Or/ 93t

ﬁaﬁnﬁaaﬁma%ﬁrh:ﬁmm%ﬁwaﬁ:wWﬁm TG e |
wﬁ?aa@aagafmmﬂqﬁﬁaqwﬁ?agmﬁaam @ W FEY - e T
e |



(d) TEEfEaIHAM, YaTgh T HEl e |
TR gERE 39 AR |
Or/ g1
e AEag| 8 A 7 | T8 94 FEds |
TSRS | W fafguEe |

2. Explain the following verses with reference to the context :

27 AR (TR OeTe THal (I (PR IR 3
(@) 1T THYS Wil o Teqed HeE: |
o Wied = wihye Ay faweey e o
Or/ 9%
TR 9 g H Td TI=s WO PeA |
e, HIHE SIS e |
(b) Td v IiEsd HHT | quE: |
TR T @& G T qute e
Or/ St
wETeY SgAMed TRy o g e
q e | A TEE vl

3. Expand the idea of the following :
were fral (@Re ok IR e
(@) 9= @d e fafeata@mm: |

B13-SK 3
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Or/ 54
TaEyAiE vrefafed TEE ARy |

(b) vmmm g gHareE |
Or/ &1

fed TR 9 oy 9= |

4. Answer the following questions : ' 4x3=12

T YRR Tl T

(@) Write a note on the T=9d= |

Agregd e it Gt fol |

(b)) What do you mean by ‘GUqRdl’ ?

Write the names of any three great poets mentioned in the lesson.

SRORS! St 1 gl 2 A Srad [ R e oo s an B
(c) Answer the following questions in Sanskrit :

o 2P0 OET IFOS ol -

() drienteee fogam fem st ?

(@) I Yetes: w foamed Remeony ol ?

(1) YRR HY A s ?

(%) Tl 9 QOO RS SHfeAy ?
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5. (a) Answer the following :

O AR O ol
(i) How does the mind of the great remain at the time of adversity ? 2

et 2R IR TR (e Rzl AT 2

(i) T fo=ed 9 & sgFwesiy ?
What did the lion consider and whom did he invite ? 2+1=3

Firez 7 Reaem sk o a1 agm s{Re

(iii) o™ o afq ____ e
Fill in the blank in the statement. 2

AR QA 9B o7 |

(iv) Taasg R = 9=r fg affman)
Write the meaning of the statement clearly. 2

Tl W A foalf |

(v) HXAOGRE HEERIEA |
Elucidate the idea of the statement. 2

ITaiRT o 7== ol

o

(vi) Name two Ankiya dramas written by Shrimanta Shankaradeva.

G *FIWL I+ = 3 SRR GRS A |
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(®)

B13-SK

(i)

(i)

(iit)

(iv)

v)

vi)

Give one Sanskrit equivalent of the term ‘S9g’|

‘@AY W9 g afex o |

Who is the author of f&daew ?

Breeitme aZ9r) @i 2

The S9fUgs are known as

Goifraw S e & @) A 1R sjaet 7=t

9 was the king the city of T / 8RT / LT

Select the correct word.

uw =06l g Sfenes |

Whom do you mean by ‘Siomgf’ ?
QA et w1 & 2

Td was the son of wivedr|

Say ‘yes’ ori ‘no’.

OIS (RN 2 WifReT | T w2y @ |

Account for case-ending in any two of the following :

e in Q. No. 1 (@) [ 1 R (a) =@ ]

@ in Q. No. 1 (¢) [ 1 72 (c) 2%® ]

|2 in Q. No. 1 (@) [ 1 71 (d) 2% |

T in Q. No. 2 (@) or [ 2 7% (a) @ 2@ ]

also. Fill in the gap.



(b) Derive any twé of the following : 2x2=4
R Rpleal 7h1F Jeoile fefa i
fae: in Q. No. 1 (@) [ 1 % (a) &% ]
TqF in Q. No. 1 (@) or [ 1 T (a) ©1937 2%/© ]
¥ in Q. No. 1 (¢) or [ 1 T (c) T3 &% ]

Sl in Q. No. 1 (@) or [ 1 R (a) &R<1 &9 |

7. (a) Decline any two of the following : 1/4x2=3
@%ﬁ Rtpican 76719 ==t foralf
AMT in ! plural [ FETR IR0
T in WE duel [TDR BHO ]
Y in =gl singular [ 59T GFIETS |

WHE in 9B singular [ DR GFIHTO ]

() Conjugate any two of the following : | 14x2=3
ST Rl 7O dreTet T ;
Vg in W f& (@ fefer &)
VF in g2 v (5 Refm o )
V' in &g T (7 Fefea 7)
V¥ in 9 T (@ Refem g)
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(¢) Change the voice of any tweo of the following : 2Ix2=4
O RTPICAT 519 M) ~AR<ew Salk
(i) egAH Hial gEarl
(ii) TH G&H YSUd |
(iii) A TeBSIA WA ?
(iv) 3% e gLy |
(d) -Name and expound any one of the following compounds : . 2

IR 1R o1 Rrrear <613 wsiem Jw &4

wfafe, Fref:, TR |
(e) Define and illustrate {0 &R | | | 2+1=3
TAIRITR B PRI o7l il
Or/ g1
Give examples of any rwo of the following in suitable sentences : - 1%a%x2=3
TR AF© O RCPICAT 7H1F Tnraet

e

(i) ReTERAREaEan g |

(i) ATgTaRR: |

B13-SK 8



(iii) =IgA T |

(iv) o Tt |

() Give the resultant forms of any fwo of the féllowing : 1%2=2
o ATt G e et ol -
() N o+ TR
Gy g+ o+ @
(i) N+ T + @ fa

(v) Vg + & + W fal

8. Translate into Sanskrit any four of the following sentences : - 2%x4=10
o) TP BIRBIT AL SRt = -
(a) India is our motherland.

SlFeIE S MPSH |

(b) 1 see an clephant on the road.

I3 35e <5l 2 MR |

(c) Sanskrit is a very sweet language.

A b1 OIS IE SR |

B13-SK 9 Contd.



@

(e)

B13-SK

Sita went to forest with Rama.

I 7510 Aol 9=0e CalfRe |

Where are you going now ?

o gfem <0 o 2

The sky is covered with clouds.

S GIRGE SRE SR |

10



Full Marks : 100

Pass Marks : 30

Time : Three hours

LD

ST

[ For unsuccessful HSLC Private Candidates of 2012 and earlier |

The figures in the margin indicate full marks for the questions.

1. Translate the following passages : 5%4=20
OET SR SEIM <

(@) W@—MM%&IW—W%W?W@—@H@
szlw—ﬁml,a@mmlmﬁm—éﬁ!ml

Or/ 9941

el T fmEd S qelsEeE: TRGERETd T Vel | T IS
foerae ¥q; ? wEfaY i oo ot e |

(b) mmﬁaia:ﬂ@mwﬁﬁmﬁmﬁ\ﬁmmwlaﬁrgﬁéﬁ
mmmmmaﬁmmﬁqﬁu
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Or/ q371

TEvH WA — o1 FREE: gow, Rl wed | T woesEey e 7 wiiha |
T S — dfe T A AR 91 7 TEiaed o fgue 99 g TR Sad — SRl
Fsfods A TE |

(c) == arediay faudy s wa 7o walfe ol | sfmuer mikaTeaTie
I SigT Seyaia | foRmae AHeauTsTE WaHe |

Or / SRS
aégawmﬁvﬁmmmﬁﬁa&mﬁwﬁm%—msﬁaﬁw
T QU | TeTHE T (eI g | Aaud gg e oo ats |
(@ Y F @ faenea e
ey faefagdar fawafa e |
et g gl wfse=mrm
YRSERESHl 1 IRl

Or/ 9941
T i A T wata e |
a7 gEfa T 4o a8 qarar Tased

2.  Explain the following verses with reference to the context : 7%2=14

2T O GL T4 CIRCAE I =

(a) ST A Gl o
AR WG @ Aressiia Wel Sl

B13-SK 12



Or/ S931
W aagseaTd fa= T |
WO TG
diden grafEmgTEER
(b) T T TR T
T g e S H
Or/ 9%t
IO Feeaanaed e was: |
Wﬂﬂﬁ%@?ﬁﬁﬂﬁ:u

-

3. Expand the idea contained in any two of the following :

o9 RURIC 7519 oiq =R fo -
() I wETEd e e HHER
Or/ %11
YA BT AR g I
(b) &R TG qE HAd AT el
O/ T

Tt O o FAkd gl

B13-SK 13
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4. Answer the following : 5x3=15.
ol 2PICRROE T e

(@)

@)

B13-SK

aﬂaﬁraﬁaﬁﬁﬂﬁmwn
3T TGN ek A el 7 et

. Who said so ? Why did the speaker say so ? Explain.

FBIE ([ (I 2 I@i3 2R A e, i = |
Or/ &1

Elucidate the idea contained in the following statement :

wee qalRe I O Iz ol

i s @ T frad @il

mmgﬁma?l

What do you mean by the term 'gf&ar& ' here ? Mention the ‘gferh’ with reference

to the wealth of a miserly person.
2 FRARF IR & ITRR 2 o 2T 40 & GRAR =i, Sead 4 |
Or/ 9837

Fill in the gaps in the following verse :

14



(c) Write what is said by Amaresha (3THT) about his aim in life.
A (9€9 GRimE Sr e A & 0 o)
Or/ g1

e, U RS AheeHa: Hi-ehl e |
Who says so ? How does the speaker explain his aim in life ?

G2 W@ @mh@‘?'ﬂ@ﬁ (ST G ST (@CMGE T PR 2

5. Answer the following questions as directed

(@ ‘@& i SEEER e

Who sa-) ? To whom was it 'said ? 1+1=2
(b) What d yoL 1

ImaAE A & gaf ?
(¢c) Trae TevT HevEayRg |

In which of your lessons does this statement occur ? Who is addressed as ' firg’
here ? 2

& AR COMIT (P! A SR ?W‘W‘qﬁwwwwm?

(d) How many Euls are there in the TRIYRAT ? 1

TReRew @201 74 WtE ?

B13-SK 15 Contd.



6. (a) Account for case-endings in any two of the following : 114%x2=3
R/ Rrical {hIF kS [efe e 3=
A= in Q. No. 1 (@) [ 1 M (@) 24< ]
FEiteg in Q. No. 1 (B) [ 1 T (b) @%@ |
faw@y in Q. No. 1 (¢) [ 1 = (c) 2% ]

forst93 in Q. No. 1 (@) [ 1 & (d) 2% ]

(b) Derive any two of the following : 122
o) TP 7R el fefa ==
W in Q. No. 1 (&) [ 17 (b) & |
Terdeay in Q. No. 1 (B) [ 1 78 (b) &3 2% ]
UEd in Q. No. 1 (@) [ 1 ™ (d) 2% ]

&gq in Q. No. 3 (@) or [ 1 R 3(a) T3 &% |

(c) Name and cxpound any two of the following : 1%4x2=3
ol RTATat 7517 JEREPR FaeE = faef
gfHar in Q. No. 1 B) [ 1 R (B) 2¥S ]
¥e: in Q. No. 1 (b.) Or [ 1 7R (b) W37 2@ |
IFAYATE™: in Q. No. 2 (@) [ 2 ™R (a) 2@ ]
e in Q. No. 4 (@) [ 4 T (@) 2% ]

B13-SK 16



(d)

(®)

B13-SK

Change the voice of any one of the following :

oW Rreal qoig s AR =

(i) Togl SatgElen: |

(i) T WIUETRAIT e | s |

Decline any tweo of the following : -
worq [RATPIcal qo1F =amet o«

gt in A7 plural [ @Sk IEp9 |
¥ in oI singular [ AT GFH© |
g in €81 plural [ TV 7670 ]

fagq in 31 singular [ TORIA RO |

Conjugate any two of the following :

o) Rl o1 arga ol

1%2%x2=3

1%2x2=3

\ #1g_in fafiferg third person singular (fafufeag Refes 2= 773 GFHF9 )

V3t in @ third person plural ( T FefE= 84w 5737 I209 )

\ fa<] in @Ig third person singular (77g RSf&d 24w 777 G070 )

V=1 in fafufds second person singular (faftfeg A& s 531 4w )

17
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(c) Frame sentences to illustrate the use of any two of the following :

(d)

()

B13-SK _

o RTIC KOIF &S (7R i w91
st

YRETHU: |

AU T |

Favd fraRee |

Give the resultant forms of any fwo of the following :

o [T qhI Rovm el fovat
e+ o + g ()
Tl + TR + g (D)
V& + T + g ()

VI + 79 + g ()

Correct any two of the following :
o1 RTPIT qot wwm =

(i) e AfEE 19w

(i) | T daw)

(iii) TRR: RN Qe |

(iv) veae fear 9t faem

18
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8. Translate into Sanskrit any two of the following : 5x2=10

O fATPICA! KT A ﬂi@ﬁawaﬁ:’f:

(a) This is the cottage where Rama lived with Sita

2 FHR0S T FroR Fale IFT IR |

(b) Brave men are not afraid of death.

AT T2 TP ©F A |

(c) A wise man is respected everywhere.

G IS e T T AT |

(d) When will your mother come ?

(IR Tt oAl =R ?

B13-SK . 19



